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Part III
Mathematics

Time Allowed : 3 Hours Maximum Marks @ 100

mstruction @ Cheek the questlon paper for alrness of printing,
Il there Is any lack of lmess, Inform the Hall
Supervisor immedlately.

Note ;D Draw diagrams and write equatlons wherever
NeCessary

PART - 1

Note : 1) Anawer all the questions. 14 x1 = 14
il) Choosee the most approprinte answer.

1
1. W Ix) = 2x* and g{x) = —— ,then fog Is

Ix '
) 2 2 |
a) 257 b) Bt ) o0 d) &
1 1
2. N '[.! B :] - %' x! f(x) =

iy . : N 1
n)y x?+ 2 b) x*- 2 c) X +— dy x'-_—
x° "

3. The least numboer that is divisible by all the numbers from
110 10 (both Inclusive)

ny H0O2% b)) 2620 c) 5220 d ) 2025
4. I a4-nimod 12), 111 w8 (mod 12), a4x113 e

(mod 12)

n) 1 L) A c) 3 d)y 2
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Graph of linear polynamial is
Al straght line b cirgcle
c) paratola d] Pypertoda
[ o 1 0)
& WA= . 1= !
s 4 |u 1’Iﬂdl‘1'|
ay y = 4 B) ¥+ 5 c) y =4 djy=18
7. In ALMN, L =" w. " It ALMN - APGR, then the
value of R in
a) TO* &) 40° c) 1e* a) 30’
1
8. The sicpe of line |aining (12,3) (4,3) Is i The value of
‘a’ in
a ! py 4 ] d} 2
9. The line ia drawn by the points {0.0), (a.0). (0.B), then
aj a=8 pja*s=0crab*"D d) a=b
10. sinfa-A)=1, cosfa-§)= —
a) sika b cosd c) sn2p d) coadp
11, The spherical ball of radius r, units is melted to make
5 new identical balls each of radius r, units. Then r, :
L
s 2 1 g) 1 2 c) 4 1 d) 1 4
12 Therangeof 8, 8, 8 8 . Bis
a 0 -1 | ey @ d 3
13 A semicircular metal sheet of diameter 28 cm Is joined
to get a cpen cone. Find the volume
1000 =,
a) —y—vaem b 303om'
et 12 Fem 1078.3
z) 3 ._: g 3_ '~ e’
™ —_—
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14

Note : 1) Answer 10 gquestions In all

Whan three coins are tossed simultansously the
probability of getting the same faces In

! ] : h | 1
al M b 4 <) A d) 3
PART - Il

10x 2 = 20

i) O.No 22 is compulsory Salect any 9
questions from the first 14 gquestions.
iii) Each gquestion carries Lwo marks.

15 Define Mull set
16. 10~ -
~
1"
-F
13- <
15~ '
Identity function
17. i1 3. x, £.75 are in G.P. Find the x
18. Say True or False
a) The sum of two rational expressions ia always
a rational expression
b) The product ef two rational expression Is always
a rational expression
19 What Is the Value of x It &1 = 167
70 The length of the tangent to a circle from a peint p.
which Is 25 cm away from the centro Is 24 cm. What Is
the radius of circle
21, Find the equation of straight line perpendicular to the
ling 2z - Jy + 6 = 0.
T XEA M181.3/8



22.

23.

24,
25,

26.
27.

28,

Hote : i) Answer 10 questions in all.

29.

30.

3.

32.

Find the Intercepis of the straight line Jx ¢+ dy -7 = g

1-tan'0
cot't -1

i
- [
Prove that L

Define angle of elevation and angle of depression

Two circular cylinders are tormed by folling twg
rectangular aluminium sheets each dimension 12 o,
length and 5 m preath one by rolling along Its lengih
and the along Its width. Find the ralio of Lheir CSA,
Find the TSA of cylinder of radius 14 em and height 1p
cm

Fin the range and coelficient of range of the data 25,
26, 18,22,71,38

Which will be the probablility that a non leap year will
have 53 Saturday?

PART - IIT

10 x 5 = 50

ii) O.No 42 is cmpulsory. Select any 9
questions from the first 14 guestions.

1ll) Each question carries five marks.

Represent the function = {(1,2), (2,2}, (3,2}, (5.4))
{1} arrow diagram {ily a table farm
lil) graph

Given A = (1,2,3), B = (2,3,5) C = {3, 4) and
D = {1, 3,5} check if (A"C)x(BrD)=(AxB|(CxD]is
true?

The sum of first n, 2n and 3n terms of an AP are S,
S, §, repectively. Prove that S,= 3S,-5))

A man saved Rs. 16500 in ten years. In each year afie’
the first he saved Rs.100 more than he did in the
preceeding year. How much did he save in the first yed’

TP

__'_"-.-.—
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4.

35,

36.

7.

38.

39,

40.

41,

42,

Find the square root of 16x* + gx?+ 1§
1 -1) 1 2
HA=(1-12), B=|2 1| and C-=[ ]shuwlh:‘l
T 3 2 -1

then [AB)C=A[(BC)

-5
Find the equation of a straight line which has slope 4

and passing through the polint of intersect of lines
Tz + 1y = 10 and 5x - dy = |

Show that the points {=2,5), (6,~1) and (2,2) are collinear

L conh____
Prove Lhat sech - tanA -1 cosecA + cotA -1

The top of 15 m high tower makes an angle of davation
of 60" with the bottom of an electronic pole and angle
of elevation of 307 with the top of the pole. What Is the
height of the electric pole

A melallic sheet in the form of a sectien of a cirele of
radius 21cm has central angle of 216 The sector s mads
into a cone by bringing the bounding radil together.Find
the volume of the cone lormed.

Three unblased coins are lossed once. Find the probabllity
of getting atmost 2 talls or atleast 2 heads.

The consumption of number of guava and orange on a
particular week by a famlly are given below.

slelaf3Ts
3|7 ]9lz2]6]2

Number of Guavas| 3
Number of Orangss

A solld sphere of radius 6 em is mellad in to a hollow
cylindar of uniform thickness. If the external radius of
the base of the cylinder is 5 cm and Its height |s

TP
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32 cm then find the thickness of the cylinder.

PART - IV
Note :

i) This section contains two questions, each
with two alternatives.

ii) Answer both the questions choosing either
of the alternatives. 2x 8= 16

43. There are 20 pieces of two, five, and ten rupee coins
whose total value is Rs.95. When last two sorts are

interchanged there is no change in the total value. Find
the number of coins Iin each sort

(or)
Draw the graph of y = x?+ x -2 and hence solve
x+ x-2=10
44. State and prove alternate segment theorem
(or)

Draw APQR such that PQ = 6.8 cm vertical angle is 50°

and the bisector of the vertical angle meets the base at
‘D' where PD = 5.2 cm.



